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(T#hm™)  ChD) (g) (%) i Sbr (kghm®)  Orffihm?)  (J7fihm™)
I NoPKo 162.0 149 26.1 9.1 6300.0  6435.0 10639.5 75.0 2355
2 NPk, 205.5 129.6 254 7.8 6765.0 87705 14748.0 79.5 300.0
3 NPK, 234.0 146 254 173 8677.5  10771.5  18850.5 85.5 333.0
4 NPK, 294.0 139 25 10.3 10216.5 104085  18214.5 105.0 487.5
5 NPK 2715 1454 25.6 1249 101055 107025  18729.0 93.5 354.0
6 NPK 2745 157 253 8.9 10903.5 111435  19501.5 61.5 613.5
7  NPK, 279.0 159.5 24.6 1129 10947.0 114555  20275.5 76.5 319.5
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10 N.PK; 297.0 149.6 239 8.43 10618.,5 112965  19768.5 76.5 501.0
11 NPK, 282.0 152 241 15.14 103305 113940 214440 99.0 4455
12 NPK, 258.0 141 244 6.1 88755 102165 174285 78.0 460.5
13 N/PK, 256.5 144 24.1 19.8 8901.0 97335 16747.5 94.5 3225
14 NPK, 291.0 139 249 10.9 10072.,5  10056.0 184125 84.0 5325
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The Fertilizer Effect Analyses of "3414" Field Experiment about Paddy
Rice Rational Application of Fertilizers in Gaocao Countryside of Xichang City

CHEN Gamg1 ,XUE Guo—xiang1 , WANG Zhi-min’

(1. Station of Soil Fertilizer, Agricultural Bureau of Xichang City, Xichang, Sichuan 615000
2. Department of Agriculture, Xichang College , Xichang, Sichuan 615013)

Abstract: Regression analysis of test result has been carried out by adopting the fertilizer effect function to
follow principle, the regression equation model about paddy rice output and the nitrogen, phosphorus, potassic
fertilizer expect in damp purple grit mud field has been gained. The regression equation mode is Y=6406.46 +
23.3105N + 9.317P + 47.5099K-0.07359N*-0.01474P*~0.08069K* + 0.1159NP-0.09016NK-0.1968PK. Under the
premise according with fertilizer effect function law principle in the setting up range 0~3 about nitrogen phosphorus
and potassic fertilizer expects, the gaining result as follows: when the maximal output is 11271.53 kg.hm ", the
?, phosphate fertilizers 111.45 kg.hm 2,
potassic fertilizers (K;0) 129.21 kg.hm ~*; when the best economic effect applies fertilizer to nitrogen fertilizer (N)
expecting that 160.27 kg.hm ~*, phosphate fertilizers (P,05)111.28 kg .hm ~?, potassic fertilizers (K;0) 113.47 kg .hm~
?,the hest economic effect applies fertilizer measuring output 11265.85 kg.hm .

Key words: Paddy rice ;3414 tests; Fertilizer effect

amounts applying fertilizer are respectively nitrogen fertilizer 167.17 kg.hm~



